Asexual Reproduction

During asexual
reproduction,
one cell splits
into two
genetically
identical cells
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Daughter Cells

Sexual Reproduction

During sexual
reproduction,
two cells called

gametes (sex
cells) combine "

to form a new
individual.

Sperm and egg cells (animals)

Sperm and egg cells are specialised for reproduction. The main functions of
an egg cell are to carry the female DNA and to nourish the developing
embryo in the early stages, so the egg cell contains huge food reserves to
feed the embryo.

The function of a sperm is to get the male DNA to the female DNA. It has a
long tail and a streamlined head to help it swim to the egg. There are also
lots of mitochondria (see here) in the cell to provide the energy it needs to
do this.

Sperm cell
male

DNA

streamlined head

long tail mitochondria

y concentrated here

Egg cell

female
DNA

size of sperm in
relation to the egg
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Flower Cont:

The sta-men-s are the
male parts of the flower.

Male Repro

They consist of the anther
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They protect the flower in the bud
They're found below the main petals.

ins, which

and the filament [
produce the male sex cells

The filament supports the

They attract the insects needed for pollination.

These are often brightly coloured.

The anther contains
I

ductive System

1) Sperm are the male sex cells or ‘gametes’.

2) Sperm are made in the

testes after puberty.

3) Sperm mix with a liquid to make semen, which is
ejaculated from the penis during sexual intercourse.
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1) An egg is a female sex cell or ‘gamete’.
2) One of the two ovaries releases an egg every 28 days.

3) It passes into the fallopian tu

which has entered the vagina during sexual intercourse (sometimes

known as copulation).

4) Ifitisn't fertilised by sperm (see next page), the egg will die after about a day

and pass out of the vagina.
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Womb

(uterus)
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Tube from bladder
[Glands_

Sperm duct
Urethra

Foreskin
‘ (may be removed)

Z Testis |

Scrotal sac (scrotum)

be (or oviduct) where it may meet sperm,

Fallopian tube

stamen of one plant to the stigm

pollination can involve...

stamen

to stigma on the SAME PLANT.

5 — pollen is transferred from the
: . of a DIFFERENT PLANT. Cross-
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the male and female sex cells must "meet up".
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1) To make a seed (which will eventually grow into a new plant)

Menstrual Cycle

From the age of puberty, females undergo
a monthly sequence of events which are
collectively known as the MENSTRUAL CYCLE.

This involves the body preparing the uterus (womb)
in case it receives a fertilised egg.

If this doesn't happen, then the egg and uterus lining
break down and are lost from the body through the
vagina over a period of three to four days, usually.

STAGEONE STAGE THREE] STAGE FOU
ining of uterus Eqg released Lining of uterus
breaks down 55‘" = e &

Day What happens.

BLEEDING STARTS as the lining of the uterus (the womb) breaks down and
passes out of the vagina — this is what's known as “having a PERIOD”.

The lining of the uterus starts to build up again. It thickens into a spongy layer
full of blood vessels ready for IMPLANTATION. (See next page.)

An egg is released from the ovaries of the female, so this is the MOST LIKELY time in
which a female may become pregnant. (This day may vary from one woman to the next.)

The wall remains thick awaiting the arrival of a fertilised egg. If this doesn't happen then

this lining breaks down, passing out of the vagina. Then the whole cycle starts again.

Seed Dispersal

Dandelion fruit. Sycamore fruit.
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Wings help it fly away
fr e it tree.
Parachutes catch the wind. fom the parent free

Fruit gets caten. Seeds come
out in the animals’ droppings.

Hooks catch
animals’ coats

Peas.

/ The pods dry out and flick the seed out.

Horse chestnut fruit.

The heavy fruit falls down from the tree.
It splits when it hits the ground and the seeds roll out.

The seeds then tend to be further dispersed by animals.
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The egg is
fertilised
when the
nuclei of
the egg and

sperm join —

An egg is released the fertilised

from an ovary Millions of sperm egg is called
(around day 14). are released from a ZYGOTE.

the penis into the /7.
vaginaduring 1l

intercourse. @)

1) Cell
About one week after
fertilisation, the embryo
starts to embed (implant)
itself into the wall of the uterus.
and the placenta begins to develop.

start here sy [TAF 1 MORHAN]

The embryo is 6 mm
long and has a brain,
heart, eyes, ears and legs.

The baby is about 520 mm
long. It's fully developed
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and ready to be BORN.
The foetus is 370 mm long and

after fertilisation the
fertilised egg divides into two. After
about 4 DAYS the egg has divided into
32 cells. It's now called an EMBRYO.

The body is about
25 mm long and
is completely
formed — it's
now called a

The foetus is
54 mm long and

looks much more
like a baby.

It's now about
160 mm long.
Itkicks and its
fingernails can
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is 'VIABLE'. This means it would
have a fair chance of surviving if

it were born at this stage.

Mother's
Oxygen, nutrients lood

and water pass to

the foetus from the

mother. (and drugs
such as nicotine)

Unbie cord |
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Carbon dioxide
Placenta| passes from foetus
to the mother

" Amniotic flid
(gives protection against|
knocks and bumps)
keeps the foetus warm

and acts as a lubricant.



